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World famous painting iS f??nd o
which district of Bihar ?

(A) Madhubani
(B) Madhepura
(@) Darbhanga

(D) Samastipur

The Tribal Movement—SaItt_jihal

(Rebellion] took place in st

(A) 1857-58
(B) 1858-59
(C) 1855-56
(D) 1854

Steam methane reformin ‘technique
is used to obtain

(A) Brown Hydrogen
(B) Grey Hydrogen
(C) Green Hydrogen
(D) None of the above

The ratio of total deposits 'th
Commercial Banks must keep with
Reserve Bank of India is called

(A) Legal Reserve Ratio .

(C) Cash Reserve Ratio

(D) Deposit Ratio

2
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. Tropic of Cancer is passes through

which State ? g]fﬁf
(A) Bihar B
(B) Orissa

(C) Uttar Pradesh

(D) Meghalaya

; Which of the following afe matters on

which a constitutional a.n}endment is
possible only with the ratification of
the legislature of not less than

one-half of the states ?
1. Election of the President.

2. Representation of States in
Parliament.

3. Any of the lists in the
' 7tH Schedule.

‘4. Abolition of the Legislative
C_ouncil of a State.

Choose the correct answer.
tA) 2,3 and 4
(B)_ 1,2 and 4
(C) 1,3 and 4
D) 1,2 and 3

o
b

Standard electrode potential of three ;
metals A, B and C are respectively
0.5V,-3Vand-1.2V. Reducing
power of these metals would be

(A) A>C>B
B) B>C>A
) €E>B>A

(D) None of the above
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8. Atwhat time between 2 and 3 O .
ln.il:{ ™ will the hands of a clock be togethe
S ' :

B

"Clock

(4) 38% minutes past 2
(B) 38 10 inutes past 2 |

(© 1012 minutes past 2

43

(D) 10% minutes past 2

: 9. The term Zillillah was f1rstused by

(A) Alauddin Khilji

(B) Akbar
(C) Balban

(D) Itutmish

10. Which company became t

o

0]

Indian company to cross the 200

billion USD market capitéifz*' tion 1n
2023?

(A) Infosys
(B) HDFC Bank

(D) Rcfliapcg Indus_tri,es. :
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12.

13.

14.

- The Speaker of the Lok Sabha enjoys|
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In 1901 who has published the book E
‘Poverty and Un-British Rule i Indiy - |

(A) Dadabhai Naoroji ’ '3
(B) S.N. Banerjee
(C) R.C.Dutt

(D) Phirozshah Mehta

Sour taste of vinegar is due to

(A) Tartaric acid

(B) Lactic acid

(C) Citric acid

(D) None of these

0]

i

5%

Which country hosted the 2022
Winter Olympics ?

(A) China
(B) South Korea
(C) Canada

(D) Japan

(A) The right to vote only in case ofa
tie

(B) The right to vote like other
members of the House 4

(C) Two votes - one in ordinary cours
and the other in case of a tie

(D) No right to vote
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15,
Which ig the oldest mountain of

South America contment ?
(A) Pacaraima |

(B) Turmuc—Humul%
(C) Andese Mountail;_'l:; :

(D) Brazil Mountain

16. Who among the following is the
recipient of Bharat Ratna for 2024 ?

(A) C.N.R. Rao
(B) M. S. Swaimnathan
(C) Chandra Shekhar

(D) Pranab Mukharjee

17. Which one of the fo]lomng is electoral
ia’g [ college for the Premdent but not forum
i for his impeachment ?-.

(A) State Legslatlve”CounciIs
(B) State Legislative Assemblies
(C) Rajya Sabha
(D) Lok Sabha

18 Who led the Champaran Satyagraha
in 1917 ?

(A) Jawaharlal Nehru
(B) Subhas Chandrf“:”%ose

(C) Sardar Patel

(D) Mahatma Gandh

1 /BPP/GO/CC/PT-ZOZS(Y)
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Buds are typically found

(A) Both at the base of leaves and tip

of branches
(B) At the tip of branches
(C) At the base of leaves

(D) None of the above

The Ishihara test is related with
(A) Bone density

(B) IQ
(C) Colour blindness

D) H lobin level
(D) Haemog E%

Where did the revolt of Birsa Munda
take place ?

(A) Champaran

(B) Ballia ;

(C) Ranchi

(D) None of the above

Which Article of the Indian
Constitution deals with the
proclamation of Emergency ?
(A) Article 360

(B) Article 365

(C) Article 356

(D) Article 352
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23. :
Which State has the longest

=R

24.

25.

Elﬁlﬂ
DF 2o

26.

01/BPP/GO/CC/PT- 2025(Y)'§}:3

boundary with Madhya Pradesh ?
(A) Maharashtra hd

(B) Andhra Pradesh

(C) Uttar Pradesh

(D) Rajasthan

Who is the Chairperson ©

FGST
Council ? o

(A) RBI Governor

(B) Union Minister of Colj_p,brate
Affaj.rs & HEs
Chairman of Finance
Commission

(C)

Union Finance Minister
= II|

(D)

Which among the followir?_i_g;lfs a tool
of Fiscal Policy ? o

(A) Taxes

(B) Cash Reserve Ratio .

(C) Credit Ceiling

(D) Bank Rate

“Tarikh-i-Firuz Shahi’ was written by
(A) Shams Siraj Afif -
(B) Yahya Sarhindi

(C) Minhaj Siraj g

(D) Isami

L

27.

28.

30.

(@A)
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Which country hosted the 2023
World Economic forum meeting 5

(A) Japan

(B) Canada

(C) Germany
(D) Switzerland

Who became the President of Indi al
National Congress when Subhash

Chandra Bos€ resigned in 1939 ?
(A) Rajendra Prasad

(B) Abul Kalam Azad

(C) Jawahar Lal Nehru

(D) More than one of the above

. Reactance of a capacitor is

Directly proportional to frequenc

Inversely proportional to sq. roo
of frequency

(B)

Inversely proportional to
frequency

(C)

(D) None of the above

e
i
b
Which country hosted the COP28
climate summit in 2023 ?

(A) Italy

(B) Brazil

(C) United Kingdom

(D) United Arab Emirates
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34. The 60.2 pcrccnt gharc in GSDp Ui

31. .
Who was the first puslim Presid®”" Bihar in 2019 = 20 Was ol
of Ingj ;

Indian National Congress ? (A) Service Scctor
Manufacturing Scctor
(A) Hasrat Mohani LR
] Sector

(C) Industria

(B) Badruddin Taiyabil (D) Agriculture Scctor .
5

€ M d
) Maulana Aza A nail is nailed into the trunk of |

i 35.
e i from the soj
ihe above | ¢ o tree at a point 1 ™ : oil
(D) More than one of 08277 EEMEl 1 o) After 2 years the nail will
= (A) Remain at same position ]
32. Which of the following A3 converted (B) Move sideways
. Bihar |
g Unicameral Legislatur® ” : ti (C) Move up !
- . : 1 ve |
O into Bicameral : Bibas Pégls - D) None of the above
: Assembly and Bihar Légialaﬂve ( ;
|
Council ? o |
: 36. If triangle represents Men, rectan
’ (A) Government of India Act 1887 represents Businessman and cir
' represents Millionaire, then whi

' - 09
(B) Government of India Act - number represents Men that are ba
Businessman and Millionaire ? |

(C) Government of India Act 1935

(D) More than one of the above

7 3
i 8 \*
33. Which pair of rivers cuts the Tropic 10 ]
I of Cancer twice over Chhota Nagpur 12 15 ;
a8 'i Plateau ? 3
| 1
(A) South Koel - Damodar ]
i '.I

(B) Suwarnarekha — Damodar (A) 12
(C) North Koel - Damodar B) 13

() 10
(D) North Koel — Suwarnarekha (D) 3

1/BPP/GO/CC/PT-2025(Y)/J 10
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37.
« In whj i
1ch district of Bihar, Maize

Production 1S maximum ? :

(A) Muzaffarpur

(B) East Champaran
(C) Siwan

(D) Saran

38. The person who has beeﬁ_ _President

of India, Ambassador to USA, Chind,

4o ,
52488 Turkey and Thailand alongwith

s il

vice chancellor to Jawal:}%{__ Lal

University. He is
ity

(A) Dr.S. Radha Knshnan

(B) Dr. Shankar Dayal Sharma

() K.R.Narayan

(D) R. Venkatraman

39. Actual site of dark reacti’éri in
El i photosynthesis inside cytoplast is
E!i 5 .l-}
(A) Granum
(B) Grana Lamella

(C) Stroma

(D) None of the above

01/BPP/GO/CC/ PT-2025(Y)/J
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) drogenation of 3
40. Cataly :‘;11: U:'f into vaﬂaspati ghee ig .
vegetabl€ |
() Pd :_
B) Fe ;
(C) Ni ]
(D) Noné of the above
i e |
‘st — leaders with List -/
41. Match List I of ders ® answer

of their territo

de given below :

g the cO
"EJ?)% flrc.ml,i'.s.t -1 List - II
E o Kunwar i. Faizabad
Singh
p. Hazrat ii. Bareilly
Mahal
c. Khan jii. Jagdishpur
Bahadur
d. Maulvi jv. Lucknow
Ahmadullah
Code :
a b c d
(A) iv i ii il
@) i i i |
(C) iii iv i1
(D) None of the above E!f'g
il

42. Which of the follomgﬁ_é is not an
electrophile ? | J
i

(A) Na*
(B) BF;
(C) HY

(D) All of the above
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% | . Mortality rate ? j

i

. e . What 18
SAE C Primary function of the Finance e = .
O e Ommlssion- . i
S } In India is to i
Eﬁ‘% A& D om0 children that g
) Distribution of revenue between (A) proportt age of 3 years as !

; the g 1
"0 Eiivesand {8 A'eS bei;iition of 1000 live childrg
pr |

(B) Allocate funds to various . that particular year
ministries of the Union an by 2

|
|
1
State Governments !

| i‘
a _ i that g
(C) Advise the President on financial (B) proportion of children ;
matters ; before the agc of 4 yeal: laS
| : 1000 live childre
1al budget roportion of :
(D) Prepare the .?;mnu&l1 & | ’Eorn in that particular year

44. Which longitude separates Canada _ |
A s e - (C) proportion of children that d
pefore the age of 2 years as

(A) 131°W £ | as
(B) 161°W proportion of 1090 live childre
(C) 151°W born in that particular year

(D) 141°W

(D) proportion of children that d
before the age of 1 year as
proportion of 1000 live childr
born in that particular year ||

5. Which of the following Constitutional

g Amendment in India has decided the

; maximum strength of the Council

¥ of Minister with Chief Minister in a
State ?

2

1
4

(A) 915t Constitutional Amendment 48. How many triangles are there in the
(B) 86 Constitutional Amendment ' following figure ? i
(C) 81st Constitutio?r_'i:e_;l Amendment

(D) None of the abo’\‘;fé_-E Amendment

46. The conductivity of éih:s..;‘:crong

electrolyte -

(A) Decreases on dilution o (4) 12
(B) Does not Changesmth dilution | (B) 14
(O) Increases slightly on dilution () 10

(D) None of the abo'\_}gé_ .'

01/BPP/GO/CC/PT-2025(Y)/

(D) 8
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49, Chitrakoot temple is located in which 53. The oldest civilization in the worlgq iy

State of India ?
ncie.3 ™ (A) Indus valley
(A) Chhattisgarh 45 (B) Chi
i inese
(B) Orissa ©) Egypt
gyptian

(C) Madhya Pradesh
(D) Mesopotamia (Iraq)

(D) Uttar Pradesh

54. Who first described the Revolt of

ey i R_??I_lira E#iE 1857 as the ‘First Indian War of
ing the interl 5_7%% ‘

?% g Prasad hald o 3 Independence’ ?
kﬁ?xz‘ { government of 1946 7

(A) Defense

(A) V.D. Savarkar
(B) Bal Gangadhar Tilak

(B) Home
(C) R.C. Majumdar

(C) Food and agriCulmré“' :
(D) None of the above

(D) None of the above

’ 51. Which of the following co}_ﬁltry is not 55. Which river is known as the ‘Sdrr

a member of G7 ? of Bihar' ?
(A) Italy
(B) USA (A] Son
(C) France (B) Gandak
(D) Russia
(C) Kosi
e
ﬁfé‘% (D) Ganga
52. For two liquids A and B toform an :
ideal solution '
. In which distri i ichi
(A) Entropy of mixing must be zero BG: LWIS ) dls,'mCt Ol,ﬂ Eihat, LICh_lE
production is maximum ? £
(B) Free energy of mixing should be i i
Zero () Siwan
(C) Enthalpy of mixing Should be (B) Sonpur
zero (C) Muzaffarpur
(D) None of the above . (D) Chhapara - |

01 /BPP/GO/CC/PT—ZOZS(Y.:);J 16
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S7.  Which of the following is the

ERE
[l

S8.

59.
O}240

S L.;'

E]?rla. s

01/BPP/GO/CC/PT-2025(Y)/J

playground of Europe ?

(A) Germany

(B) Switzerland

(C) Italy

61.

(D) France

Fort William College at Calgutta was
established in

(A) 1802 CE for historical

| research

in Indian languages ..
(B) 1802 CE to understand Indian
culture and tradition.

(©) 1800 CE to train Indian civil
servants

(D) 1800 CE to train civil servants
in Indian languages |

Who was the founder of t]:je__Maurya %%
Lot 63.

Empire ?

(A) Bix;;&usara

(B) Brihadratha

(C) Ashoka

(D) Chandragupta Maurya

18

60.

62.

GET IT ON
Google Play

A) A, B,C and D vitamins

Liver stores

(B) Only A and B vitamins

(C) A, Band C vitamins

(D) None of these |

b
Which Indian State topped the Nj
Aayog’s SDG India Index 2023 7 |

(A) Gujarat
(B) Maharashtra
(C) Tamil Nadu

(D) Kerala

Which one of the following Schecﬁ
of the Constitution of India conte_‘é
provisions regarding Anti-defectig
Act ?

(A) Fifth Schedule
(B) Second Schedule
(C) Eighth Schedule
(D) Tenth Schedule

Which is the mountain range alo
the Mediterranean Coast of Asia:
Minor ? J

(A) Kirther i
(B) Alburg
(C) Taurus

(D) Pontic
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64, ;
?g'-![ﬂ‘ Whl(lh VlCeroy decentralized the

ﬁ;ﬁi CO].Qnial economic structure in India ?

(A) MaY()
(B) Curzon
(C) Ripon

ove
(D) More than one of the a.bc.w

65. January 1, 200

Eg'l@\ of the week lies onl January 35 2009 ?
E? - a-‘.!

(A) Thursday

(B) Sunday 5

(C) Wednesday

(D) Monday

India ?

(A) Arunachal Pradesh
(B) Assam
(C) Nagaland

(D) Meghalaya

01/BPP/GO/CC/PT-2025(Y)/J

8is ’I‘uesdaf . What day

20
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1, 2020 the Bihar Educat;,
ment started the followin
gh DD Bihar

In Apri
Depart
program throu

(A) the telecast of e-content for
class V-VI students

(B) the telecast of e-content for
class IX-X students

(C) the telecast of Karsak-(C}
program for farmers

(D) the telecast of a cultural prg
to save old culture of Bihar

Who is the author of the famous
book ‘Gulamgiri’ ?

(A) Jyotiba Phule

(B) Ramaswami Naikar Periyar

(C) B.R. Ambedkar

(D) More than one of the above

Which of the following country i
going to host 20* Asian games

2026 ?

(A) China
(B) Indonesia
(C) Japan

(D) India
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70. "There is no atmosphere on the Oy %4 74. Wha;t ﬁhogm ngileesi}; place of ? j -
s win ,
surface of the moon because Elﬁgﬁ-u : the follo g %&'
117, 98, 80, 64, ?, 42 &

(A) It is closer to Earth (A) 48

(B) Escape velocity of gas. molecules (B) i

is less than rms velocity
) Sl
(C) It revolves around Earth (©)
(D) 55

(D) It gets light from Sun

i
i
;
.-+.

75. In India which of the following City"

71. Which State of India is '¢é11ed as the E#IE has been declared as the first “Cit§
% of Literature” by UNESCO ? -
State of Minerals ? : |
(A) Jabalpur in M.P.
A) Orissa
- (B) Kozhikode in Kerala
B) West Bengal h
o ) (C) Kolkata in W.B.
C) Bihar
o (D) Nasik in Maharastra
(D) Jharkhand

£ 76. Quinine is a common drug for mal
Grey revolution is related to that is obtained from a plant. Whj
part of the plant yields this drug?

(A) Fisheries

(A) Leaves
(B) Fertilizers

(B) Root
(C) Oilseeds

b, (C) Stem bark
(D) Potatoes oL
(D) None of the above

73. Average height of Kosi Plain from ) : |
D g B TEss gea level is 77. Which Sector in India has benefitt
% ﬂ ,, - the most from Globalization ?

(A) 100 m -
(A) Services

(B) 30 m
(B) All Sectors have benefitted equ
C) 150 "
(©) m (C) Manufacturing
(D) 300 m

(D) Agriculture
01/BPP/GO/CC/PT-2025(Y)/J 22
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78. Turmeric powder is obt'UnCd from E]82 Which Indian State has the hlghe%t
which part of turmeric Plant ;S'; literacy rate as per the 2023 cens\18

‘ E}.-.:a

(A) Dried foot (A) Himachal Pradesh ‘_
(B) Dried root . (B) Goa
(C) Seed ' J"

(C) Mizoram G

(D) None of the above 4
(D) Kerala
79. When was the Patna College l;]
established ?  Eag

83. Compared to a burn due to air at _}

(A) 1865 100°C, the burn due to steam at

(B) 1863 . 100°C is

(C) 1861 (A) Less dangerous due to high lateg

(D) None of the above heat of evaporation :
(B) More dangerous due to high lateg

80. How is Hydrogen stored physically ? heat of evaporation :
(A) In form of hydrides (C) Less dangerous due to low lafc'

(B) In form of water heat of evaporation

(C) By comp:ressing hydrogen gas (D) More dangerous due to I.O,W later

(D) None bf_ the above

mel
84. Which of the following i t the
81. As the diameter of objective lens of a ich of the foflowing 1s 7O E.
famous centre for Buddhist Learn

.%2 telescope increases, the resolution of af

eﬁ._%" telescope in Ancient India ? g
(A) Remains same (A) Nagpur

(B) Depends on focal length of lens (B) Valabhi

(€)' Increases (€) Vikramshila

D) Decreases (D) Nalanda

;

V1/BPP/GO/Ccy PT-2025(Y)/g 24


https://applink.adda247.com/d/XhqWf9lSap

Addal247)

eyl

] e in & ‘s at 12th
o are 15 chairs 18
85. Thel:c mtcthc id dle, zu;he right. How
of Pis a nting v mrc petween P
s+ion C e
gfeillglroihairs arc )
1
and Q ?

E]\'-I'

e \‘i ™
B

(A) 4
B) 5
(€ 3

(D) 2

son of A,
86. IfCIS d'A is female, then

(B) Husband of D
| (C) Wife of D

(D) Mother of D B

87. The Vernacular Presgefﬁct allowed

(A) Confiscation of the assets of the
newspaper if the newspapers
published anything that was
found objectionable

(B) Confiscation of the printing
press if the newspapers
published anything that was
not found to be objectionable

(C) Confiscation of the_' printing press if
the newspapers published anything
that was found objectionable

(D) More than one df the above

/BPP/GO/CC/PT-2025(v)/ 3 26

OW. Position 88.

89.

i Chaudhuri’ was used for

91.

GET IT ON
Google Play

Average height of snow
Pradesh is

_line in Ut
(A) 6500 m ]
(B) 7500 m
(C) 5500 m

(D) 4500 m

All India Trade Union Congressé
formed in the year

(A) 1920
(B) 1919
(C) 1918

(D) More than one of the abcn%

During the Delhi Sultanate, |
the designation ‘Muqaddam or

i

(A) Village headmen
(B) Village accountant _.\;‘
(C) Revenue officials

(D) None of the above

In which district of Bihar the

is produced highest ? _:-.‘5;
(A) Vaishali
(B) Muzaffarpur _-ﬁ::
(C) Patna

(D) Madhubani
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o
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93.

94.

[x]ER AL
i
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Light weight bullet proof helmets and 95,

3 Jackets use which of the following

fibres for their production ?
(A) Terylene

(B) Nylon

(C) Kevlar

(D) None of the above i

''96.
Choose the correct pair from the
following options.
(A) Fourth Five-Year Plan - Focus
on Service
(B) Fifth Five-Year Plan — Focus on
Industry '
— : 97.
(C) Third-Year Plan — Focus on
Globalisation
(D) First Five-Year Plan — Focus on
Agriculture
Which of the following is a function
of Central Bank ? 8.

—

(A) Manage the Repo-rate
(B) Lending to Commercial Bank
(C) Bank facilities to Government

(D) All of the above _ o

28

(B) Nallarbar Plain

g (Cj Pali

(C) Laura Boldrini

-(D)._ Giorgia Meloni

GET IT ON
Google Play

Which of the following is not ‘
associated with Australia Conﬁnent__

(A) Eyr Lake '

(C) Salwin Mountain

(D) Salvin Valley fi

Efg
The script written on Ashoka’s ~+

‘I“..
Pillars is p
|

(A) Brahmi

(B) Samaritan

(D) Sanskrit

Who is the Prime Minister of Italjﬁ;a;
of 2024 ? 1

(A) Emma Bonino

(B) Rosy Bindi

minute on Indian Education ? .
(A) 12 February 1835
(B) 12 February 1836
(C) 02 February 1835

(D) 01 February 1835
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99. What is the unit of measure of

EEEE
nrdfs magnetic field ?
Bt
(A) Cobalt
(B) Ampere
(C) Ohm
(D) Tesla

100. Which field game is most PoPHIar in

the world ?

(A) Hockey

(B) Volleyball

(C) Soccer (F ootball)-'_:_.ifjj. _
(D) Cricket

..sE the Panchayat Raj set-up ?

and district levels:

(B) Four tier systei_ﬁ of local self
government at the village, block,
district and in the State levels

(C) Two tier system of local self
government at the village and

block levels

(D) Single tier structure of local self
government at the village level

01/ BPP/GO/CC/PT-2025(Y)/J

What is the system of governance in

(A) Three tier structﬁi‘e of local self
government at the village, block

102.

103.

30

GET IT ON
Google Play

Which of the followingis not nsmmiumd’
with Chandragupta Maurya ?

(A) Susima
(B) Sanchi

(C) Junagadh inscription of

Rudradaman

(D) Vishnugupta

Oke

In 33T Olympic which game is not
included ?

(A) Triathlon
(B) Modern Pentathlon
(C) Fencing

(D) Cricket

Which newspaper wrote the followi
about the possible future role of t
Indian National Congress : “.. is t
nucleus of a future Parliament of o
country ... and will lead to the go
of inconceivable magnitude for o

countrymen’ ?

(A) The Indian Mirror
(B) The New York Times
(C) The Times of India

(D) More than one of the above g
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106. Choose the

Besides spreading Malaria,
Anopheles mosquito’s are also

vectors of
(A) Dengue and Filariasis
(B) Dengue and Encephalitis
(C) Encephali

(D) None of the above

odd pair among the

Els B following options:

E}&ﬁ

[

107.

E?ﬂ.l-.'

(C) Warren Hastings

(A) Gobi : Mongolia

(B) Kalahari : America
(C) Thar: India

(D) Sahara: Africa

Who introduced the permé:i}ént

settlement in Bengal ?
o

(A) Holt Mackengie

(B) Lord Cornwallis

(D) None of the above
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110.
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111.
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-mless bombs in the ‘l
|
i

who threw hat

Central Legislative Assembly ?

(A) Jatin Das

(13) Batukeshwar Dutt |

(C) Bhagat singh
(D) More than one of the above

Blood group of an individual is
determined by

(A) Presence of Haemoglobin

(B) Combination of WBC and RBe

(C) Shape of RBC
(D) None of the above

NNP at factor cost is equal to
-

_,}A) GNP at factor cost — Net indire
tax ke

(B) GNP at Market Price

(C) Disposable Personal Income _";

(D) National Income

dizal,

i
Who was the President of the Indlaﬂ

National Congress at the Gaya
Session of 1922 ?

(A) Mahatma Gandhi
(B) Hakim Ajmal Khan
(C) Chittaranjan Das

(D) None of the above
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12- One of the properties associated with ~ 116.
"“i@ X-rays is that they can be deflected
.

(A) Both electric and magnetic fields
together

(B) Electric fields only
(C) Magnetic fields only

(D) None of the above

113. Amarkantak source plac? of Son
river is situated at :

(A) Rajmahal hills 117.

(B) Mahadeo hills
(C) Makalu range

(D) Maikal range

;

114. The power of the Supreme Court of

I India to decide disputes between the
é‘% Centre and the State falls under its
(A) Appellate jurisdictior}:'y
(B) Original jurisdiction. -
(C) Advisory jurisdictior.;_: 118.

(D) Constitutional juﬁs:i?:li_dtion

115. Dalmetian Coast is

(A) Intermontane

(B) Foot-hills |
(C) Foot-hills of Karst
(D) River depositional

01/BPP/GO/CC/PT-2025(v)/J 34
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Name the major city of the Indus

valley civilization that had trade with

(A) Ropar
(B) Lothal
(C) Kalibangan

(D) None of the above

Who was re-elected 'as the Presiden:
of France in 2022 ?

(A) Jean-Luc Mélenchon
(B) Eric Zemmour
(C) Marine Le Pen

(D) Emmanuel Macron

The number of scientific payloads ¢
Aditya L - 1 mission for systematic
study of Sun is E'%
B
(A) 9
B) 6
(€ 7

D) 5
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119. Match List - I of social reformers

§' with List - II of their so G siven
ghf& ? choose answer from the cod¢ slVe&!

below : .
List - I List - II
a. Brahma i. vishnu |
Samaj Shastri Pandit
b. Ramkrishna ii. Swami
Mission Vivekananda
c. Servants of iil. Raja---l};:}mmohan
4 Vidhwa  iv. Gopal Krishna
Vivah Samaj Gokhale
Code :

a b ¢ d

A) i i i iv

| i i iv i 0

(C) iii il i iv .

(D) None of the above

120. Legally stipulated mamnmmI size
E}; E beyond which no individual farmer
E%e can hold any land is

(A) Land consolidation |

(B) Land ceiling
(C) Abolition of intermediﬁfiies
(D) Tenancy reforms

01/BPP/GO/CC/PT-2025(Y)/d
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122.

123. .

124.

GET IT ON
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Minimum age for M.P. (Lower hous

‘M.P. (Upper house) and President i
(A) 25,30 and 35
(B) 25, 35 and 45
(C) 25, 30 and 30
(D) 25,35 and 35

EEE
=

Which ‘of the following is responsil

for production of shadow ?

(A) Polarisation

(B) Rectilinear propagation of ligh

(C) Diffraction

(D) Interference
EG

: o [l

Bihar produces 71 percent of Ind

annual production of which of thes
(A) Pineapple

(B) Orange

(C) Lychee

(D) Mango

When was the Bihar State formed
(A) 1915
(B) 1911
(C) 1906

(D) None of the above
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1206 .
o Under whieh Artick: of fhe Indisn
1;]{;;11] Congstitution the Arnnsl jiinancisl
'_”3&6 Statement (Budpet) is ,,,«,:;r:e-;;sr:_ly o
e Indd before the Pmlimu*ﬂil 4

(A) Article 112

(13) Article 114

(C) Article 112

(D) Article 111
126. Amid the dis'.iriln_.amrlri;s of which

river s situated Divi jeland ?

(A) Mahanandd
(B) Vimasadhard
(C) Godavari
(D) Krishna

127. CIRCLE ig related 1o RICELC in the
same way SQUARE i related to

(A) UQSERA
(B) UQSARIE
(C) ERAUQS
(D) AREUQS

128. Which of the following sced is

E]f m used in production of engineered
;I’Elf; 7 diamonds ?

(A) Moissanite
(B) White sapphirc
(C) Graphite

(D) Cubic Zirconia

01/BPP/CO/CC/PT-2025(Y)/J
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4 ke bage [ { ‘f‘:-.l} £ :’(’.;?_
In which ity W4 sl (TH) THIH0E07

2022 held 10 fnddisn 7

(A) Banyplonrt

(B) Hyd ey histh

(C) Murs 1721

(D) ew eI

Match the List =1 # uthrs WitH
on 1457 #04

List — 11 of the f/){)kss /
choose ansners 1o thes 138 1D

below :
List -1 Lizt - 11
a. V. D, Sgvarksy i, The First
War of

Independencs

ii. The Peosont
and the Roj

Civil Rebellion
and in the
Tndian Mutinie

b. S. N. Sen

c. Eric Stokes iii.

Eighteen

d. S.B.Chaudhuri iv.
Fifty-Seven

Code :

a b c d
(A) iv i i il
(B) i i 1 v
(€ i iv i ii
(D) None of the above

021
ob%
In which district of Bihar, wheat crc
production is maximum ?

(A) Jahanabad

(B) Bhojpur

(C) Rohtas

(D) Patna
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132. Who is the current Chairman of the

%{;\!{g Indian Space Research Organisation
= (ISRO) ? &

(A) G.Madhavan Nair " |
(B) U.R. Rao
(C) S. Somnath

(D) K. Sivan

133. The expanded form of UPI is

(A) Uninterrupted Payment

Initiation

(B) Uniform Payment I I_Eeption

(C) Unified Payment Interface

(D) United Payment Initiation -

134. Which of the following étate was not
[l AE]

annexed under Lord DqEOusie’s
4z

Doctrine of Lapse ?

(A) Nagpur

(B) Jaipur

(C) Sambhalpur

(D) Satara

01/BPP/GO/CC/PT-2025(Y)/J
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135. An electron of mass M kg and charge;

Eegm © coulomb travels from rest through |
%ﬁ a potential difference of V volts. The

final energy in joules would be

E?...‘

(A) ev

(B) M

€
© v

(D) MeV 9@4.4[:
S

The Parliament can make any law
for the whole or any part of India for
implementing International treaties

136.

(A) With the consent of all States

(B) With the consent of the majorit

of States
1 }
. (0, Wlth the consent of States
: cohcemed

(D) . Without the consent of any Sta

137. Who among the following is not
~ associated with Azad Hind Fauz (INA)

(A) S. A. Dange
(B) Prem Singh Sehgal
(C) Shahnawaz Khan i

(D) General Mohan Singh



https://applink.adda247.com/d/XhqWf9lSap

Adda247)

:JJ-;E‘::.
-h'i':ﬂ' : ce
138. Who won the Nobel Pea :

Match List — I of Pre-Congresg
B | organisations with List — I of thei

'ffggﬁ 2023 ? AT leaders and choose ans o
ElEat £ codes given below :

Prize in . 141,

wer from the

(A) Abiy Ahmed g i
ist - st = II
(B) Nadia Murad . a. Indian i. Dadabhai

ned Association = Naoroji
(C) Narges Mohammadi :

b. Madras ii. M. Viraraghava_chaﬁ

(D) Maria Ressa ' Mahajan
R Bomb ifi. Justice Ran
- . e il % C. Bombay  iii. Justice ade

139. Kashmir Valley 18 thh e (i Presidency '

Valley ? Association

(A) Rift d. Poona iv. Surendranath

' ¢ Sarvjanik Banerjee
(B) Blind | | Sabha

(C) Erosional Code :

(D) Tectonic | a b ¢ d

A i i i v

140. Raj travelled from a point X straight B iv i i i

to Y at a distance of 80 metres. He (C) i i iv i

[E]# 3 [E] i

2__\% turned right and walked 50 metres, (D) None of the above

[E:#*: then again turned right and walked —_— %
70 metres. Finally, he turned right o]

142. When antigens are introduced in tl

and walked 50 metres.. How far is he body through vaccination antibodi

from the starting pomt’r’ are produced to fight off infection
(A) 30 metres (A) By both B and T cells

(B) 45 metres (B) By only B cells

(C) 20 metres (C) By only T cells

f the above
(D) 10 metres (Bl Denes

01/BPP/GO/CC/PT-2025(Y)/ 3 42
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145.

EgAm
E?ﬁ!. .

Renewable Energy means
1. Electricity produced from solar

2. Electricity produced from thermal

plants .
3. Electricity produced from coal
4. Electricity produc_edlfrom wind

Choose the correct answer from the
options given below :

(A) 1and 4 only
(B) 1,3 and 4 only
(C) 1,2 and 3 only
(D) 1and 3 only

The temple at Deogarh near Jhansi
and the sculptures in the temple

at Garhwa near Allahabad are
important remains of ..

(A) Rashtrakuta art
(B) Gupta art

(C) Maurya art
(D) None of the above

Under the Government of India

Act 1935, who was the first elected -

Chalrma_n of Bihar Leglslatlve
Council ?

(A) Rai Bahadur Satish Chandra
(B) Rajiv Ranjan Sinha’
(C)  Rajendra Prasad -,

(D) More than one of the above

146. Name of first 3d prmted humanoid

robot in India is
(A) Indro
(B) Robcop

(

(D) Manay

C) Mitra

01/BPP/GO/CC /PT-2025E&5/J

147. A British Citizen staying in India Can

148,

149,

150.
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p

not claim right to ~3

B

(A) Freedom of religion

\

(B) Protection of life and personalg

liberty
}

Freedom of trade and profession‘i

Bl

(©)

(D) Equality before law

Which is the oil refinery having
maximum capacity in India ?

(A) Barauni
(B) Mathura
(C) Trombay

AR sk b 2 ok M §

(D) Koyali

Which of the following Sufi Silsilah
was founded in Bihar ?

(A) Quaderia
(B) Firdousia
(C) Qalandhar
(D) Kubriya

=
g‘: .
=¥

Which of the following vitamins are
water soluble ?

(A) .Vitamin A

(B) Vitamin D

(C) Vitamin K

tlJD} None of these
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